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General Instructions for students : ey S i b

1) Use mask & keep at least 3 ft. distance from each other.
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2) Read carefully and attempt all questions.
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3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
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Example: The number of subsets of the set {0} is

a)l

‘a;l,«;d/ur”:‘f Z{0}er : Ji
®) 2 c)3 d) 4

4) If more than one options are encircled in a question, no mark will' be given.
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I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.

Question No.1:

(a) {e, g,u}
(c) {e,i,u}

Question No.2:

(@) {}
(c) {b}

Question No.3:

(a) Rational Number

(c) Integer
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The subset of set B = {a, e,i,0,u} is:

e erF¥B=1{a,e,i,0,uler 1 A Jir

(b) {c,d, e}
(d) {o,p,q}
The improper subset of {a, b} is:
e er & o F slab) 2 A Jir
(b) {a}
(d) {a, b}

The number v 19is:

- 19:% 23/:‘;J!r
By JL'L‘ (b) Irrational Number 5y Jbt/f

§y”; g (d) Whole Number §y”; J"(



Question No.4:

(a) 58
(c) 147

Question No.5:

(@) 7
(c) 0.07

Question No.6:

(a) 2
(c) 4

Question No.7:

(@)1
(c)5

Question No.8:

(a) (10000),
(c) (10110),

Question No.9:

44)

Square of 29 is:

- & 629 :4/:}J!r

(b) 87
(d) 841
Solve /0. 0049
V0.0049 S F 5 4 Ui
(b)0.7
(d) 0.007
Solve /125
V125 Jg S 6 & Jir
(b)3
(d)5
The largest digit in the octal number system is:
e ke U B L8 U T A i
(b)3
(d)7

Solve (11001), — (111),

(11001)2 — (111)2 Q/J’ :S/le

(b) (10010),
(d) (11110),

Ali has Rs 26,224. He wants to convert these in Saudi Riyals.How much Saudi Riyals will he receive ?(1 Saudi Riyal =Rs
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(a) 566
(c) 646

Question No.10:

(ss44=\
(b) 596
(d) 736

Qamer borrowed Rs 50,000 at the rate of 2% per year. After a peiord it is convert ed into Rs 60,000.For how much

period he borrowd this amount?
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(a) 5 Years

(c) 15 Years

Question No.11:

(a) 23.3%

Question No.12:

WS
5 JL, (b) 10 Years 10 JL,
15 Ju (d) 20 Years 20 Ju-

A man bought a cow for RS 75 000 and sold it for Rs 100 000. His profit percentage will be:
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(b) 33.3% (c) 43.3% (d) 53.3%

Umair’s annual income is Rs 600,000 and the rebate in tax is Rs 400,000. His income tax at the rate of 5% is:
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(a) Rs 10,000

(c) Rs 30,000

Question No.13:

(a) 2
(c)6

Question No.14:

(a) 1292
() 124

(b) Rs 20,000

10,000&3/ 20,000&2

30,0003/ (d) Rs 50,000

The degree of polynomial 223 12 z + 3 z* 2 22 + 6z y is:

-9;/}(21’3 y2z+ 3 x? y2 2+6 :Uyg?/}(:B/J!r

50,0001/

(b) 4
(d) 8
6y* x 2y =
6y x 2% = 14 £ Ui
y y —— . i
(b) 129/
(d) 1298



Question No.15:

(a) (0,1
(c) (1,2
=4
Question No.16: {x +Y
z—y=0

The solution of simultaneous linear equations given above is:

(a) (1, 1)
(c) (2, 1)

Question No.17: Factorization of 2z + 4y — 6zis:

(a) 2(x — 2y — 32)
(c) 2(z + 2y + 32)

Question No.18: (1. 05)2 =

(a) 1.0025
(c)10.025

Question No.19:

2

(@)0
(c) 4

Question No.20:

(a) t=rk
(c)tk=r

Question No.21:

(a) Tx-4y=475
(c) 5x+Ty=475

Question No.22: Factorizationof 7y — yz — 7 + zis:

@ (7T+2)(y—1)
(@ (7T—2)(y—1)

Question No.23: (r+ 3t)3 =

(@) 73 + 9rt(r + 3t) + 2783
(c) r? +t% + 3rt(3r + t)

Question No.24 : 4u? — 9v? =

(a) (2u — 3v)(2u + 3v)
(c) (3u — 2v)(3u + 2v)

The solution of the equation 3z + 2y = T is:

If z — = = 2, then value of 22 + - will be:

Srwed §22 + #?nm— )

_‘¢J7K3.’13 -+ 2y — Tetsls :IS/JW

(b) (1,1
(d) (2,1)
r+y=4 .
Y 16 7 iy
x—y=20
- JV K Ulslns 51 47 S .,“C&(d; vl
(b) (1, 2)
(d) (2, 2)

_‘agf,"d/ 2x + 4y — 62 17 A Ul

(b) 2(z + 4y — 32)
(d) 2(z + 2y — 32)

2 .
(1.05)" = :18 # Ui»
(b) 1.1025
(d) 11.025

—\

119 & Jis

Wi
(b) 2
(d)6

By eliminating y from ty = 1 and ky = r, we get:

_‘Ltnd’b‘;é_/ﬁv/yc_uﬁky = T'J)lty =1
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(b) k=rt
(d) tkr=1

The equation for the statement "The price of 5 balls and 7 bats is 475" is:

- < fals “i Z “‘a 3,475 _wf p(u;lﬁ 73/ uwfs”ug

21 / J!r
(b) 5x-7y=475
(d) 7x-5y=475

e $ESTYy —yz — T+ 222 4 Uir
(b) (7 + 2)(y + 1)
(d)(7-2)(y+1)

3 .
(r+3t)° =23+ J»r
(b) 7% + ¢34 3rt(r + t)
(d) 73 — 9¢3 + 9rt(r + 3¢)

du? — Q? = 24 # Jir
(b) (2u — 3v)(2u — 3v)
(d) (3u — 2v)(3u — 2v)



Question No.25:

(a) 20

Question No.26:

(@) Z1 and £6
(c) Z1 and Z3

Question No.27:

(a) 97 cm?

(c) 247 cm?

Question No.28:

(a) 4mm
(c) 20mm

Question No.29:

In the given parallelogram ,the value of angle "x" is:
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(b) 80 (c) 100 (d) 260

In the given figure, the pair of corresponding angles is:

< 4 b/ug,u o/'tz e y fd} 126/72 Jl/

46/}’41 (b) £1 and £2 /24571
43/}’4 1 (d) Lland £7 471514 1

The radius of cone is 3 cm and the height is 5 cm. Its volume will be:
KU e 7SS F3UmE b F L 27 A Uiy
On x5 ot (b) 157 cm® 154 5 &
24m 5 A (d) 457 cm? 45m 2 §F A

The radius of a sphere is 5m. Its surface area will be:
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(b) 16mm”
(d) 100mm?

Ifa = 6m, b = 8m, ¢ = 10m are the sides of a triangle then according to Hero's formula Area of a triangle will be:

K Fo el O Zrslis md U Lot £ 2k ¢ = 10mb = 8mea = 6m 1 29 # Jir

(a) 6 m?
(c) 24 m?

Question No.30:

(@)0

Question No.31:

Question No.32:

6 % &r (b) 12 m? 12 % &,
24 2 G p (e 576 m? 576 < &,

The value of the trignometric ratio sec 45 is:
- s secdd = 3eF 304 Ui
(b) 2 (V2 (d) =
The mean of thedata 10, 6, 12, 15, 7is:

-‘LJM)’J].O, 6, ].2, ].5, (g0% 231/J1r‘

b) 10
(d) 50
The median of the data 51,48,54,57,60 is:
e s K60 5T 5448 5115 32 & Jivr
b) 51
d) 57



